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31l o forw argest /Instructions to the Candidates

1. 3% GRT A9 AT  TRgd by 77 3ff7-a1e a1 % R R 3TUeh! ferfaa oten & forw smifyg
fbar mar g1 afe R d9 F vt e eI UfafY 6t & A1 famu & SMER Sfd G 78
T & f MU Spaifar srefierd &1 wrw))

You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. VAT, 80 W1 O o T-IR@BT S U AR SR wdien o oy 02 w2 D

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02

hours.

3. mﬁwmmﬁgwﬁwﬁﬁﬁﬂﬁﬁﬁ{%wmw@rwmr

The questions will be objective type with four options out of which only one will be unambiguously correct.

4 UAP UY BT 04 3% B SR UdP TAd SR BRI T 3w BT T |

Each question carties 04 marks and one mark will be deducted for each wrong answer.

5. Wb IR PN aud ufy Iikq STETT STHSR ITR-Y&TehT & et

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. SMTUPI, ITR-GRRFHT H T 1w ot & o, Aicl/eTel WTET ¥ difer U 97 ¥ SNTHIAR IR
UfT & Heiferq St b1 sifdhe P et TR b1 e e 2|
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.
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10.

15

12.

13.

14.

15.

TS Uy & foT o STR TTard HHT ST |
Multiple answers for a question will be regarded as wrong answer.

SR MY B H Gid uy-gRkiemr 9oft B | sfunsiR I g | ARy = w RRer

Question booklet code printed onthe top right corner should be written in the OMR answer sheet in the

space provided.
UY-YRThT T ST A1 YT SgehHie gl ford |

Enter your Name and Roll Number correctly in the question booklet.

SMTASR ITR-GReTeT & Tt viafdar efl/arelt wrd) & sfe urge 9 @ o =Ry

All entries in the OMR answer sheet should be with blue/black ball point pen only.

TRIe gl | e ot Juikifa 7 € siue 8- fese R gxdier sar ARyl

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

e wdten TeRara sia & ofer SR, HraHaeR, HieTsd WIF qYT 3 Saeei-e
STd, UTed-YRad, Al i o @t srgafe 78Y & smeh

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc will not

be allowed inside the written test hall.

Tl guf 81 0, SUHSHR IWR-YRKeHT $t SR & Ve g A B R g NTHR IR-
T (A8l bl G quT oo Ul ST U < |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

UY-gRererT 3naeff Sroe urg v ga B

The question booklet can be retained by the candidates.

Tl b Uy A He & R nafifat ol udle gfa Bl @t erafy Te 1

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TPHIRET & - A yEEe (SRE A% R®) -Ug W, 1346&1377
Technician B - Chemical Operator (Maintenance Mechanic) -POST NO. 1346&1377

1. $Holl BT T3S Hee T, i ©/The SI unit of energy is
A. dIc/watt B. S{&/Joule C. <gC/newton g ! @Tﬁ/coulomb
2. 3Tufdes <=5 M) A I AT S %/A device used to measure relative humidity
A. %mﬁlpotemiometer B. 13fﬁ'—‘ﬁIﬁE?/galvanorneter -
C. 3‘I'lﬁ?ﬂIITEﬁ/I-Iygrometer _ D. dM9HYY/thermometer
3. WIS fHRul &1 SECICL D ¥ AP §/The wavelength of ultraviolet rays is higher than
A. T fH07Gamma rays B. 3fa¥ed fHRUlinfrared rays
C. YEAd/microwaves D. & T T/radio waves
By THGRT i din et s o 5 &1 Uh U @/Brass is an alloy of
A.Cu& Pb B.Fe & C C.Zn & Pb D.Cu & Zn
5. @l SIFUTT B URMIST .. ... /Poisson’s ratio is defined as
axial strain Lateral strain axial stress lateral stress
" lateral strain " axial strain " lateral strain " axial strain
6. WA ST 99 ... ... @/Density of Al is
A. 2700kg/m3 B. 7800 kg/m? C. 2700g/m3 D. 2.7 g/m?
¢ @_EFT dg UshH % | A & ﬁﬂ{ Ugad far sman %/Lubrication is the process used to

A. TfqHH E\-rff H &RUT ® HH HI/Minimize wear in moving parts
B. Eﬁﬁ Gal &3l T‘@ﬁ/HeIps in keeping the parts cool

C. 7Tl &t ' i FBTa/ Washes away and carries away dirt-

D. G'Q'*iﬂﬂ GHV/All of the above

8. [T uig ¥ 9a9 ofie Fwiy arasdr 22

Which metal has the highest thermal conductivity?
A.Ag B. Al C.Cu D. W
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9, THEEHE o hdeans FHHR Rigid w® enuia %/Working principle of thermocouple is based

on
A. fo@w FaH/KirchofPs law B. XHH-8lcoidM A9/Stefan-Boltzmann law
C. Hle® WHTG/Seebeck effect D. g% ™/ Hook’s law
10. 999 HF AOH F W wgE g ... /The devices used for measuring
temperature
A. GYRRYT hermocouple B. AU}/ Thermometer
C. SSUfARIYD/ Thermistors D. 3"3@31_"[ VALl of the above
NI P AR ST R AT & o wgaad a=f= ........... &
A machine used for raising gas to a higher level of pressure
A. S3R/Blower  B. TUT§h/Compressor C. UdI/Fan D. UU/Pump
12. 3 AW hedl % . . /Ohm’s law states that

A. YR, dieedl & Uﬁ?ﬁ'ﬁlﬁqm %/Current is inversely proportional to voltage
B. YR, PIGR D Gﬂﬁmﬁﬁﬁ %/Current is proportional to resistance

C. ¢, dieedl & Gﬂw %/Current is proportxonal to voltage

D. G'El?iaﬁ o ﬁ"f :I_E?ffNone of the above

13. FafaRea & YT &1 gdl TTTY/Find the odd one out

A. RYMdl/Viscosity B. dddl/Ductility
L GWI?IH‘Ef:ﬁ?IIHT/Malleability D. HtﬁﬁﬁTlToughness
14. Th efarae uerf & 1%1? ............... /For a semiconductor material

A. d9HA aa‘—‘r R iRy gedl %/Resistance decreases as temperature increases
B.TUHM §g4 WR UfoRiy # Q'@ Bl §/Resistance increases as temperature increases

Cc. A & ufads ¥ ufRly srufvafda Redl %’/Resistance remains unchanged as temperature varies

D.G’q?iaﬁ T ¥ @5 H T8/None of the above

15.§?—Fﬁ T geg e paRkeEd A9, .. .. ... .. GAl %/Highest calorific value among the fuels

A. TeR a@/Cow dung cake B. ®18/Wood C. a_c.ﬁE‘T/Petrol D. SId/Coal
16. Uch UILHIT] & W T s %/Nucleus of an atom consists of

A. I /Proton B. ng\g\f:ffi\leutr()n L Eaaﬁj):[/Electron D.A 3R BGHBoth A and B
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17.T% 500 Freidier 9 & Uqe SAIGR I@ UH B 2 Nmm? ARG <@ R ST B
SR U & Hiel 20 Fefidter 8, S gu ufded .. ........ .. 2l

A thin cylindrical pressure vessel of 500mm diameter is subjected to an internal pressure of 2 N/mm?. If
the thickness of the vessel is 20mm, the hoop stress is

A. 2.5 MPa B. 25 N/mm2 C. 25KN/mm? D. 2500N/m?
18. SR LIWICZCTl qﬁ? ...................... ©/Unit of heat transfer coefficient
A. Wim?K B. W/m C. Wm/K D. W2/mK
19. S foRufidar &7 ... ... eR1 fewmr Srar %/Thermal diffusivity is
given by
A. Cy/P B. KC,/P C. PCy/K D. k/PCp
20. Thd =R JUIST & dgd dgarvl IUisT 3ofoT fbar st & . ... ... .. ...

Multistage compression of air in place of a single stage compression is done in order to

A. 1 fFgel auae &1 difta far S HH/Limit the gas discharge temperature

B. UIR /T ST Hh/Save power

c.ufd RiftieR g faeT o Hifta fear s Yoh/Limit the pressure differential per cylinder
D. Iudad TVAll of the above

21. 3 Rl I IR & I AU A qUT B, ITF AN d, T dy BT ISP, TH
T 1 WMHR AV WM B F GURG URR BT AR ... B

Two shafts A and B of solid circular cross-section are identical except for their diameters da and d. The
ratio of power transmitted by the shaft A to that of shaft B is

A. IAT/Four times  B. I/ Two times  C. 38 T/Eight times D, T T/Sixteen times
22. A R & §F dt-Se JYRUG: 99 UGS fbaT ST & WL L ... ... ..

V-belt is mostly used between two pulleys when

A.éﬁ@ﬂ%%a@ﬁmaﬁmm@ﬁﬁaﬂamﬁwwﬁmmmw
|

Great amount of power is to be transmitted between the pulleys when they are very near to each other
B. TP W & §gd Moc 89 W &9 A1 § Sof Gaikd a1 o 2
Lesser amount of power is to be transmitted when they are very near to each other
C. §gd @ % IS aE | Sl JaRa fbar o 2
Great amount of power is to be transmitted for a long distance
D. 9gd @ d% &Y A1 & ol TaRd fHar &

Lesser amount of power is to be transmitted for a long distance
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23,

24,

23

26.

27.

28.

29.

30.

d% AT ¥ e wged v § RuRiea e @ afte

The material used for brake lining should have the following characteristics

A.DPH ST &Y &Hdl/Low heat dissipation capacity

B. %Y &RU 3 3R I=T °YUI T[UTISh/Low wear rate and high coefficient of friction

C. 3= dUld WER T[UTieh/High coefficient of thermal expansion

D. $H S8 URRY 3R &Y gy T[UITeh/Low heat resistance and low coefficient of friction

do et qufe ey L. G| ?/The rolling contact bearings are known as
A. WIRCH STMNIT/Plastic bearings B. WiEsUT §af¥il/Antifriction bearings

C. el WE® TN/ Thick lubricated bearings D. Uddl Wg® TR/ Thin lubricated bearings

eoRd &= dafT. ... ... o g&dl 8/The tapered roller bearihgs can take
A. ®dd 39 YR/Radial load only B. ®dd & HR/axial load only

c.f3sa 9 siefim HR EF/Both radial and axial loads D.E:Iﬁ g ﬁ“ﬁc Wt q—E:pffNone of these

UYH 50 WHR Temell &1 efid . ........ 8/The average of first 50 natural numbers is
A.25.30 B.25.5 C.25.0 1D.12.25

U6 g9 & U 127 SR g, a‘rsﬂmfaaw ....... 8

Circumference of a circle is 12w cm, Its area is
A. 36m cm? B.72m cm? C. 36 cm? D. 1447 cm?

SR EC2I I L 8, o R &7 7eng 9 R &er oar ¢ |

The gears are termed as medium velocity gears, if their peripheral velocity is
A. 15-30m/s B. 30-50m/s C. 50-80m/s D. 3-15 m/s

9 96 & D 9@ T TR AR § @ B WOT T 2 WS m I GRAmL 2

A spur gear with pitch circle diameter D has number of teeth T. The module m is defined as

A m=D/T B. m=T/D C. m=xnD/T D.m=D.T

A IUSRU gl & AT WHRT AR W SYERT fear sarer genf L. gl
The material commonly used for machine tool bodies is

A. Hg WId/Mild steel - B.Gqdl @lgl/cast iron C. Uldd/brass D. disl/copper

A : - 6 ' 1346&1377



3l.

32.

2.

34.

35.

36.

3.

38.

27°C & 500 UTH S P! 90°C TP TH HT & OT HGWTH ST &1 kJ o, uReee

PIfoT | |

Calculate the amount of heat in kJ required to heat 500g water at 27 °C to 90 °C

A. 63kJ B.27k] C3L5 Kk D. 50 kJ

T gadiield GIfed &1 SUaRT ......... & fog foar o g/a hydraulic press is used for
A. q'?ﬁ'h/’Forging B. ¥9q (AifEm) /moulding '

C.A 3R B Eﬁ:n:/A& B D. Etﬂiaa b | ﬁé ot ﬁﬁ/none of the above

41 f&dt BRAEREe ST awEE ... IR & wmE B

A temperature of'41 degree fahrenheit is equal to ........... Celsius

A. D B.9 G D.-9

R BT BT SeUdHid. ... ©/The least count of vernier caliper is
A.0.002mm B. 0.02 mm C.0.01 mm D. 0.001 mm

T WIeR IS &1 AT, . ......... Ao & AU foram STET 8/A feeler gauge is used to
measure

A. Tl o fUI/Pitch of the thread B.fdRl & siiak& &A/Internal diameter of holes
C. H¢l/The clearance I 3"31'{[3?[ =l @'ﬁ; ot el/None of the above
faggd TAYA HT THIMS !IIEI_C' ...... ©/The SI unit of electric charge is

A. BdIH/Coulomb  B. URRR/ampere €. TB/lumen D. dR/lux
....... Uhd & U PP €U U Udg IAGMEN o Johdl g

The surface finish achieved is of higher order with the process of

A. SEATHR aEI'UI/cy]indrical grinding B.aﬂ:f/boring
C. WW/Lapping D. Ela?Ff/drilling
agucy vard 3 uerf § S.........

Thermoplastic materials are those materials which

A. F 3R M F AP PR A g IR W WE ¥ ¥ 6 HIR S Bl
%I are formed into shape under heat and pressure and results in a permanently hard product
B. S R W Tgad &3 WR HIR Tl sd1 iR B I9fe uRad— T8 gl

do not become hard with the application of heat and pressure and no chemical change occurs

C. T8 § ok Iwyad uRfRUREr & orefH FTBt erur I8 gobar B
are flexible and can withstand considerable wear under suitable conditions
D. T TUT Sdhl § °NU RMAT & ¥ U # yged e o gl

are used as a friction lining for clutches and brakes

A : 7 1346&1377



39. EfefEd & 4 &F ¥ Wi & WURY R R Ay g6 & od & J=ard UEy @l
Sig & foe IugT fear Sar &2

Which of the following joint is commonly used for joining pipes carrying water at low pressure

A. TR {llﬁ'q:f) Gh_e_»"fUnionjoint B. Rriie 9 ke Gﬁg/spigot and socket joint
C.9lde I TS SS/socket or a coupler joint D. T SS/nipple joint

40. Qm¥/min 9% B v m/min T H & TS UBY & AN . ......... gl

The diameter of a pipe carrying steam Qm?3/min at a velocity v m/min is
A. Qv B. Qv C. /4 \QIv D. 1.13VQ/V

41. T Rae & T & gR1 faFfEy foar Sar @A rivet is specified by

A. Wi TY/Shank diameter B.RdT =1 ?ﬁﬂg/length of rivet
C.uY & Uch¥/type of head D. Gmiﬁ HUl/all of the above

42. T RdT S & ORIy &1 32 SIS B L. ... T B

The objective of caulking in a riveted joint is to make the joint

A. U8R 9 Hdd/Free from corrosion B. 79 d H €@/stronger in tension
C. ufdeai ¥ Hdd/free from stresses : D. &RUl Had/leak-proof

43, o dfcsT uspH H. .. ... .. /In a fusion welding process

A. %9 ST BT TANT fHar e %/Only heat is used
B. %ad eI &1 UArT fhar S %/only pressure is used
C. ™ 3R T S &I WA fBar s §/Combination of heat and pressure is used

D.E:Fﬁf q ﬁ‘é’ ot '_-I_E)pf/None of these

44.TH TUIT & BT .. ... .. H R GORU & fw uged fear S gl
A buttress thread is used for transmission of power in
A. T fe=meli/both direction B. had U fa=M/One direction only
c.afeed GilS i/welded joints D.G'q?iaﬁ ps s ﬁé ot :1_E>pf/n0ne of the above
45. THegg U9 C| e Yeid DI 8/The ACME screw thread hasa ... included angle
A B. 55" C. 60° D. 29°
46. TP TRR $] Al WA feedl (7€) B F7 W e W ... TS|

When a nut is tightened by placing a washer below it, the bolt will be subjected to

A. JUle® W/compressive stress B. 3[0FUUl Ufdadi/shear stress
C. T Ulddd/Tensile stress D. E'Hff T ﬁ_sg :I'éT/none of these

A : 8 1346&1377



47. 38 dee BT T . ... ... & fou e S %/The eye bolts are used for

A.UTdR & HARU/Transmission of power

B.gﬁ:ﬂﬁ CARC[A W/Locking devices

c. Ui A @ I8 &R uRafgd W/Lifting and transporting heavy machines
D. WO 3R U P TN El‘ﬁﬁ?’Absorbing shocks and vibrations

A cotter joint is used to transmit

A.Had 3eflg T HUR/Axial tensile load only

B. ®dd e qUted HR/Axial compressive load only

C. ¥gad & qul U8 HRI/Combined axial and twisting loads
D. 3f&ftg a9 ar ﬂtﬂﬁ HI¥/Axial tensile or compressive loads

49. WffeRl H AaReT. ... &l SJUld &/In levers, the leverage is the ratio of

A U™ Holl 3R UR Hull/Effort arm to the load arm

B. UM HR 3R I 7Y TAR/Load lifted to the effort applied
C.gifA% @y 3R A 3{JUld/Mechanical advantage to the velocity ratio
D. HR YT 3R v Hull/Load arm to the effort arm

50.T% ®p P WURN & I Hgl Fal & o IGBT qe@dr ... ... ... g
A screw is said to be self-locking screw, if its efficiency is _
A.50 UG ¥ ST&Hmore than 50% B.50 UfARId & HHM/Equal to 50%
C. 50 UfA=Id ¥ HH/Less than 50 % D.sﬁﬁ g Ebalé "I F&/none of these
Sl (=2 ()= B (TR T iy 8/Value of (—2) * (=3) — (=3) * (2) is
A 12 B. 0 C 1 D. 24

52.12 IR YR 3R 6 V<A FS I U GBI Fdlv &1 &% ... .. 2l

Area of a right angled triangle with base 12 cm and height 6 cm is
A. 72 cm B. 36 cm? C.36 cm D2 o

53.fofafed & § o9 @ Yde gEd ©

Which one of the following is a positive drive

A fdes wie I SI9d/Crossed flat belt drive B.JU Slgd/rope drive
C. di-dcc SIgd/V-belt drive D.TH §1%d/Chain drive

1346&1377



54. 3R &R 10,000 YU Uy e 3 X F T ¥ ok o o 7 fielfeR 2, O wd
AT 1 T | -
Find the cutting speed, if the spindle is rotating at an rpm of 10,000 and the job diameter is 7 mm.

A. 220 Tiefidier ufd BMe/mm/min B. 220 HIex Ufd f¢/m/min
C.22 HieX ufd ff[e/m/min D.2.2 HieX ufd f9¢/m/min

55. yaTeddt &1 U= ... . . R 3NYid &

The operation of a rotameter is based on

A. Cdigd & ‘ELUf;f/Rotation of a turbine

B. URadf Udlg aﬁN ariable flow area

C.ANd & RUR Gld Uld/Pressure drop across a nozzle
D. WIfeRY fdg TR aa/Pressure at a stagnation point

56.450mmﬁ?wwwm&ﬁﬁﬁwmﬁﬁeﬁsﬁﬁ
Wt it i s s e |

The process of joining metals by melting filler metal at a temperature less than 450 deg Cis

A. 'a'\_rFf/brazing . B. @W/Soldering
i a%"f/we]ding D.G'qgaﬂ "3 ﬁ'sp i &l/none of the above

57. 3T dg UshH % | SN A & P(’FQ foBar Srdr %/Annealing is a process done to
A. 3fidRe fdedl & fAdfE/Relieve internal stresses B. a=al & qfS/increase ductility
C. gdaar A q%/lncrease toughness D.B'El?iaﬁ Gl/all of the above

58. TP dggeiuued # URT & YA & PRU IAERS FEU qu 399 TeRaael Regd
DR ... ... 1 SFIHAUR Bl B

The chemical deposition due to flow of current through an electrolyte is directly proportional to the
quantity of electricity passed through it

A TRS &1 fedid aagaam‘aeq W/Faraday’s second law of electrolysis
B. $dlE F™H/Coulomb’s law

C. RS &1 uyH w&w o/ Faraday’s first law of electrolysis
D. f5@Iw FRW/Kirchoff's law

59.37|ﬁ q ﬁ:f Uch Rt 'CIETQf Tepf %/Which one is not a ceramic material
A. Rifes F1a1gS/Silicon carbide B. ¢/ Teflon

C. TR d?leTiS/Tungsten carbide D. dRH 12¢IS &/Boron nitride

A - 10 1346&1377



60. ?II&‘R:H, e &l de YT % | R /Toughness is the ability of the material
A WIReH fFuu & SR BYT a6 Sl P SN Hial ¢

To absorb energy during plastic deformation up to fracture

B. Gfagrur & fo1 9@ & orefig =g gar 2

To undergo deformation under tension without rupture

C. UfaerRu & famr ddteT & ad= ey &) gsdt 2

To withstand deformation under compression without rupture

D.3ued & ¥ o +ff 7

None of the above

61. Fgama, ........... dUAE F A g0 & FagR BT HEH gl
Cryogenics is the study of the behavior of matter at temperature below
A. -150°C B. -100°C C. -50°C D, 200°C
62. Fraferfea ergaff &... ... ... .. H1 TeHie Tad HH gl

Among the following metals, the melting point is lowest for

A.Hg THTA/Mild steel B. didl/Copper C.ﬁ'@mﬁmmluminum D. “Gh:ﬂ/gold ‘

63.T% Uarf &1 UfaRiY. . ........... %/Resistivity of a material is

INCER: Qﬁmﬂqm/lndirectly proportional to area
B. dEE 9 Hﬁqﬁﬁ/[)irectiy proportional to length

C. uikRly 3 Hdd/Independent of resistance
D. WfeRIY & STUIfIH/Directly proportional to resistance

64.98 Yfad S a9 OB &l IS Sifirfrd AW & Mo I USH W WA 8 I fHu
g0 d Fefia o & gadt &)

A device set to open at a predetermined set pressure to protect pressure vessels from being subjected to
pressure that exceed their design limit.

A. 4l ﬁﬁ/pressure gauge B.Gld farel dled/Pressure relief valve
C. SN YA/ Pressure regulator D.Gﬂ'{iﬁﬁ d ¥ P ft T&l/none of the above
65. 001 & FHIR Weed J........ /Pumps when connected in parallel

A.ﬁ'ﬂﬁﬁ b} Q’F@ Eﬁ?‘ﬁ %/Increase discharge B.Qﬂﬁ " ?{@' _@?ﬂ %/Increase head
c. oo # & a?ﬁ %/Decrease discharge D.B"Cl?iaﬁ =i ﬁ% HI A81/none of the above

66. TPpRiH DI AdAd ol &/What is meant by flash point 2

A. 98 dUYE S8l 99 aifsId g9 Sl %/Temperature at which an oil starts to evaporate
B. 98 IUHM @] dd 9% Sfa- @i %/Temperature at which oil vapours start to burn
C.dg dUHE &l dd S Il %/Temperature at which oil starts to freeze

D.G'qqaﬁ T ¥ o5 o TEl/None of the above

A ; 11 1346&1377




67. M0 Tl B g9 F R B I verdf BT IwE fpar s e

What materials are used for making grinding wheels

A. dYgU/thermoplastics B. 3{¢fETEh/Semiconductors
C. W/Abrasives D. ¥d&/Rubber :

63. 98 UPH SRl 9 Bl WU UGH TRSIIING o qUT oF O W A G T o
o fd g9 & oo ool & RW Semr W@ 2. ... |

The process in which the job is first cleaned by hydrochloric acid and water and then dipped for few
seconds in molten zinc

A. aﬂ%ﬁmelectroplating B. W/Annealing

C. WIGalvanizing D. W/Carbonizing

69.100 Hiex ... .. gHRIHER & A %/ 100 metres is equivalent to ---- hectometer
Al B. 10 C. 100 D. 1000

70. U Wides g¥lg A § w1 a1 o1 godr 2
What can be done using a universal surface gauge
A.US1T UREST AW/surface finish measurement
B.d¥] & g Pl ﬁil'h"UT/determining the centre of a job.
C. I W FHIR Bl BT ARG/ for drawing parallel lines on the job
D.B 3fR C EFiboth B & C

71. GHDIU R WK & TR F o vge AR L. L. gl

The gears used for transmission of power at right angles are

A. TS FRR/Helical gear B. BRac [ER/Bevel gear
C. ™R fR/Spur gear D. GR-E8 Th fTIR/Rack and pinon gear

72.09 AET F A N0 B I T B s 2

What gases are not used in gas welding.

A. W?/Acetylene B. 3ﬁ3¥ﬂ'\ﬂ¢l/0xygen C. ETE@'GFT/Hydrogen D. SIIRA/Chlorine
73.T% oudl Wi ®M & miiexu § wfaas @1 Suan a6 T8 e o 2

Why a coolant is not used in machining a cast iron job

A. Godl dIg § B aUT ABRE € W aas 31 H9 s
Cast iron contains carbon and graphite which acts as a coolant

B. ¢ual dle # TR § o e @1 B wear @
Cast iron contains sulphur which acts as a coolant.

eddl gl T BT TN Hal ©/Cast iron shsorbs moistire
D. Gtﬂi&ﬁ H ¥ 315 ot 98/ None of the above

0
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4. 1 O8NS .simennsnas fsedum & wuE 81 pound is equal to ........ kg

A.2.2 B. 4.536 C. 0.656 : D. 0.4536

75.T% 1 & foU THSSYUA I /What is SWL for a crane
A. ﬂTf\&iH PG YHT/Safe working limit B.ﬁTf\aﬁ BB HR/Safe working load
C. Qe CADTaRy aTS/Safe working length D. HH% HHT Y/Standard working load

76.1‘3191%1@61?@?@%%@@@@%:

Which one of the following is not a positive displacement pump.

A. TG UU/Reciprocating pump B. WR UU/Plunger pump
C. 3Udhgl UU/Centrifugal pump D.ddUc (SUNAM) UU/Diaphragm pump
77. Fafd du & q@ @ SwE. L & fow far o @

Oil is used in vacuum pump for

A. Qﬂ?fﬁ;l/Cooling B. UHgUl/Sealing  C. HE/Lubrication D.G'EPEIHH VAl of the above
78. TSP WWEAl. .. .. ... ... g

Kinematic viscosity is

A. TS RO IYT RA & HET BT ST
Ratio of dynamic viscosity to density of fluid
B.AIUHH & WY gHdl # URadd e} 3 A=
measure of rate of change of viscosity with respect to temperature

C. i wFd qur IR S iiar &1 arur

Ratio of dynamic viscosity to specific heat capacity
D.SWA d ¥ By Ht T

None of the above

79.@%%%%%x,2x+9andx—29%lW@Em?ﬂﬂﬁ ..... %I

Three internal angles of a triangle are x, 2x + 9 and x — 29, The value of the largest angle is

A. 109 B.50 C.21 D. 45
80. UYH 50 Urehlde deAtell &1 avhe ... . ... g
Sum of first 50 natural numbers is
A. 1275 B. 50 .. 3750 D. 5500
ook ok skt ok
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